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QUESTION 1

Click the Exhibit button.

[edit protocols mpls]
user@router# show
label-switched-path R1-to-R6 {

to 172.17.20.6;

install 10.3.0.0/24 active;

[edit routing-options]
userfrouter# show
static {
route 10.3.0.0/24 {
lsp-next-hop R1l-to-R6;

Both configuration hierarchies shown in the exhibit have been committed to your MX Series device.
Which two statements are true in this scenario? (Choose two.)

A. Traffic destined to 10.3.0.1 will use the R1-to-R6 LSP as a next hop

B. Traffic destined to 10.3.0.1 will not use the R1-to-R6 LSP as a next hop

C. The active 10.3.0.0/24 prefix installed in the route table will have a route preference of 5

D. The active 10.3.0.0/24 prefix installed in the route table will have a route preference of 7

Correct Answer: AD

QUESTION 2

Click the Exhibit button.

711\ 10.10.1.1 10.10.1.2 /1] 3 10.10.31 10.10.3.2 /1| \ 10.1055
U N (U
Router-A

You must create a static route on Router-A to the 10.10.5.0/24 network using 10.10.3.2 as the next hop. Referring to the
exhibit, which configuration accomplishes this task?
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€A master:0} [edit]
user@Router-A# show routing-options
static {
route 10.10.9.0/24 next-hop 10.10.3.2;
}
' B user@Router-A# show routing-options
static {
route 10.10.5.0/24 next-hop 10.10.1.2;
}
Ve [master:0} [edit]
user@Router-A# show routing-options
static {
route 10.10.5.0/24 |
next-hop 10.10.3.2;
qualified-next-hop 10.10.1.2;
1
}
B [master:0} [edit]
user@Router-A# show routing-options
static {
route 10.10.5.0/24 {
next-hop 10.10.3.2;
resolve;
1
1
A. Option A
B. Option B
C. Option C
D. Option D
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Correct Answer: D

QUESTION 3

You want to make use of the nonstop active routing (NSR) feature. Which complementary feature must also be
enabled?

A. IP anycast

B. graceful restart

C. Virtual Router Redundancy Protocol
D. graceful Routing Engine switchover
Correct Answer: D

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/nsr-overview.html

QUESTION 4

Click the Exhibit button.
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[edit]
user@routerl# show protocols ospf
area 0.0.0.0 {
interface ge-0/0/1.0 {
interface-type p2p:;
bfd-liveness-detection {
minimum-interval 300;
multiplier 3;

[edit]
userl@router2# show protocols ospf
area 0.0.0.0 {
interface ge-0/0/1.0 {
interface-type p2p;
bfd-liveness-detection {
minimum-interval 400;
multiplier 3:

Referring to the exhibit, if there is a connection failure between routerl and router2, how much time will pass before the
devices declare the BFD session dead?

A. 1200 ms
B. 300 ms
C. 600 ms
D. 900 ms

Correct Answer: D

QUESTION 5

Click the Exhibit button.
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[edit interfaces ge-0/0/3]
userl@router# show
unit 0 {
family inet {
address 10.1.1.29/31;

[edit protocols bgp group BGP]
user@router# show
multihop;
accept-remote-nexthop:;
local-address 10.1.1.29;
advertise-inactive;
damping:;
family inet ({
unicast:
}
family inet-vpn ({
unicast;
}
peer-as 65511;
local-as 65514;
multipath:
allow 10.100.100.0/24;
neighbor 10.1.1.28;

Referring to the exhibit, which two statements are true? (Choose two.)

A. The configuration is for an external BGP session

B. The local-address statement is not required for the BGP session to establish correctly
C. The configuration is for an internal BGP session

D. The local-address statement is required for the BGP session to establish correctly

Correct Answer: CD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ local-address-
edit-protocols-bgp.html
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